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Also by a betrothed maiden; - Layaps By 397 FTEIRRT T ON
he should be killed and not transgress

Overview

The X713 explains that we derive N1y M0°X from 77°X7, just as by a X117 the
rule is 723> X1 277 (because of the reasoning of *5v PMID 77 TATT NI
"21), the same applies to the N1y MoK (exemplified by a 707IRNT 77v1) that
one 1s not permitted to transgress MY, even under the threat of being killed
if he does not comply. m»doIn will explain whether this refers to the male
only or also to the female.

— 39159 RYY H¥22N KON YaN Yan ‘e
The explanation of 12y° HX1 377 is referring to the male; however she, the

women who is being coerced, should acquiesce to the act and not allow

herself to be Kkilled -
— (3,79 pr7mam) SN ND 123 MNTD o0 oy ypap

for she is merely considered as the world’s ground, as the X713 states in
ST 979 32 P9 The ruling of 12y 891 377° by N1y does not apply to women.

mooin offers additional proof that the woman is not subject to 22vn X1 21:7°n:
— %59% DINT 11T Y1) 599 93 (3,5 91 TN Y93

And also in the beginning of n21n2> n>on the XM asks, ‘and let us teach

the women that if they are forced, it is permitted’ for them to rejoin their
husband; indicating there is no M2yn X1 277N for women. Therefore we cannot be 0713
that 72yn X1 2177°n, for the woman who plays a passive role is not obligated to be w3 10m
for N1y A

mooIn offers a dissenting opinion:

" In our texts it reads Mayn X1 377N, See following footnote # 2.

% The term w1 is used here to negate the X07°3 of 1770 (she should be killed), indicating that (even) the
77v1 must allow herself to be killed, but rather 3773° (he) the %12 should allow himself to be killed.

? The simile is that just as the earth is trodden upon but is not active, similarly the woman is passive.

* The woman is not participating actively; her role is merely passive acquiescence.

> The X3 there explains the reason JnoX was permitted to live with Wy MwnX (even though it was X*07792
[see mooIN there &M 17"7]) is because INOR was (merely) 271 ypIp.

® The X3 there states that there was a decree that women (at their 79777) had to be first Hv21 to the 1737. The
myug would be w91 701M not to be 7y21 for they (thought they) would be M0X to their husbands. The &7m)
asked let us inform them that by 01X they are not 17°2¥2% moR (if he is not a 779) and they need not resist
the 17, This proves there is no 12y° HX1 3170 for the woman. If the ruling would be 112vn 781 317°n by the
woman as well, how can she allow herself to be 9v21 by the 1137, since she is an w°R nwR.
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— X91155 195093 99T IN PNYS 19529

And the >''1 states that we are rightfully '397°n' ©913; that the woman allow

herself to be killed rather that transgressing N1y »17° (under certain circumstances) -
— Y UHIRT /MAINI YUY N9 9970 122 yNRYNT NNT

For that which is indicated in 7921 9910 32 75 and in the beginning of

MRINe Noon that 93N is ¥ for the woman -
— DU NTaY RS B9 PP NIAY NN 1391

That is only if she indeed is 22w ¥p2p and did not do anything active -

— AYYN AWYN YR X911 DYDY MIYN NIANY NY 99INY 1P AWyn muyd HYax
However for her perform an act, for instance if the gentile tells her that
she should bring the /9 upon herself (otherwise he will kill her), she
should be killed and not perform this act of bringing the m¥ upon herself.

The >"1 will now prove his point that 27 ¥p9p is not a blanket 27 for women to be 92w
DIIR2 NP 177, but rather it is part of the general an°7, that 72y HX) 3177 applies only
when one is active (male or female), but not when one is passive; then there is no X1 37
12y (by male or female).

— 7152 191717 9MMINWYI RIN NOYWD) 90129 2991919 NY NI 199D NYINT

For we derive the ruling of 72y° HX1 377> by N7y from ‘a murderer’, and a
potential %9 is not obligated to forfeit his life, only when he is told to

(actively) kill with his hands -
— X970 IN PINNN LY TNR8Y PIND NIN 9N DN JAN

However if the gentile orders, ‘allow yourself to be thrown on an infant
(thereby killing the infant), or you will be killed -

—19%2N DI8NY 975 1I8Y I0NY 299N PN
He is not obligated to forfeit his life in order to save the infant’s life; for the
person is not doing anything, he is passive. He is being thrown on the infant; he need not
struggle (and be killed) in order not to be thrown on the infant.

mooIn explains the rational for this ruling
— %90 PNRID MY RNT NNDYT 29V PNYD N292NT N9NITT NN NN 9999Y NIIN NAVTNT

For on the contrary’ in this situation we can say, ‘why do you ‘see’ that

the friend’s blood is redder, perhaps my blood is redder.? Therefore just as
by a n¥1 the rule of 92y° HX1 2777 is only when he is actively killing someone; however

7 The source that by a m¥17 we maintain 725> 9X) 3777 is because of the logic of 5 P 7777 TATT NI X1
"21. There is however no 105 or other proof. This same logic can be turned around to exempt him from
being killed if he is merely passive.

¥ One person is going to be killed; whether it is the child or the adult. The adult can claim since T am not
doing anything, why should I be required to struggle and save the child’s life if this will cause me to get
killed.
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when someone is being killed by him being passive, the rule is 277 HX) 72y°, the same is
true by Ny M9 that the 2vn of 123 X1 297 (both by men and women) is only if they
are active, but not if they are passive.

mMooIN anticipates a possible misinterpretation of this ruling and corrects it:
— 937 TN AN NIV TN MPNY NIN 1T DIININ ON NPT 1)

However concerning the male, if gentiles say to him allow yourself to be
impaled into an 717w, the ruling is 92> X?Y 37777 -
— YYN NITAY XD 912002 '8 NOY
For in this case he cannot claim I did not perform an act -
— N PYPINY ")t
(for) since they are impaling him -
— (x,2 M) NN DY RN WA 13990NTI NYTH NIN MWD PN

[For] hardening can be only mindfully (and voluntarily) -
Hawen "N NYPNN XY 19

And the fact that he becomes hardened is considered an act. He is not
passive despite that others are impaling him; the "7 makes him an active participant.

Summary
The rule of 72y> XY 377° (concerning MY M2°2 7°¥) is only when it is

transgressed in an active manner; however if the transgressor is (totally)
passive there is no 7 of 22> 2R 3777,

Thinking it over
1. What is the rule concerning 7777 7712y; is the 211 of 12y> HX) 2177 there only
if he is active, or also even if he is passive?

2. mMooIn compares the 07w vpap of the woman to being thrown on a child.
Seemingly there is a difference, when one is thrown on a child he is merely a
medium to the killing; however the woman is participating in 1™y "22a!'?

% There are various NX0" here; some are 00 that 11 WP PRT 11 PYPINY 1170 (indicating that PyRINw 113
is the reason for Mo [See X"2w"7 NBOIN]).

10 This should read 2,31, See mooN there PR 1"7 (that if he is already 7wpn there is no 21 of 12y° X1 317).
' See x"sw that even though the "w>p is 01N2 (it is AWpPN® R7W K"X), nevertheless it is considered a 7wyn
[o1%2], for which the 197 is 72v° X7 2.

12 See: 3 MR 0772K N2 J'R DIR 793102 PRIAW 127 and X3P MR 2"n.
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